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Example

1. In the figure, given alongside, CD is a

diameter which meets the chord AB at E, such

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_fBZw030j5VdE


that AE = BE = 4 cm. If CE is 3 cm, find the

radius of the circle.

Watch Video Solution

2. एक आयत की लम्बाई x, 5 cm / min की दर से घट रही

है और चौड़ाई y, 4 cm / min कि दर से बढ़ रही है जब

x=8 cm और y= 6 cm है तब आयत के  (a) परिमाप (b)

क्षेत्रफल की परिवर्तन की दर ज्ञात कीजिए

Watch Video Solution

https://dl.doubtnut.com/l/_fBZw030j5VdE
https://dl.doubtnut.com/l/_oMT7Ij0ISz0f


3. Chords AB and CD of a circle are parallel to

each other and lie on opposite sides of the

centre of the circle. If AB = 36 cm, CD = 48 cm

and the distance between the chords is 42 cm,

find the radius of the circle.

Watch Video Solution

4. Chords AB and CD of a circle with centre O,

intersect at a point E. If OE bisects angle AED,

prove that chord AB = chord CD.

https://dl.doubtnut.com/l/_61yRQZfg3JLD
https://dl.doubtnut.com/l/_xeeVfBL5R4hU


Watch Video Solution

5. BC is an equilateral triangle. A circle is

drawn with centre A so that it cuts AB and AC

at points M and N respectively. Prove that BN =

CM

Watch Video Solution

6. Prove that the line joining the mid-points of

two parallel chords of a
circle passes through

the centre.

https://dl.doubtnut.com/l/_xeeVfBL5R4hU
https://dl.doubtnut.com/l/_xCYDR5DuxjvM
https://dl.doubtnut.com/l/_BIbdjDZ8RQyw


Watch Video Solution

7. AB and CD are two equal chords of a circle

with centre O. If AB and CD, on being

produced, meet at a point P outside the circle,

prove that : 

 

PA = PC

Watch Video Solution

https://dl.doubtnut.com/l/_BIbdjDZ8RQyw
https://dl.doubtnut.com/l/_gnla7yGlwhas


8. AB and CD are two equal chords of a circle

with centre O. If AB and CD, on being

produced, meet at a point P outside the circle,

prove that : 

 

PB = PD

Watch Video Solution

https://dl.doubtnut.com/l/_HzjRfn8kHDJk


9. Two circles with centres A and B intersect

each other at points P and Q. Prove that the

centre-line AB bisects the common chord PQ

perpendicularly.

Watch Video Solution

10. Two circles with centres O and O' intersect

each other at points P and Q. The straight line

APB is parallel to centre-line OO'. Prove that :

https://dl.doubtnut.com/l/_dAXFL0tiyrOO
https://dl.doubtnut.com/l/_h877X6zMsV5o


OO' =  AB 


Watch Video Solution

1

2

11. Out of two unequal chords of a circle, the

bigger chord is closer to the centre of the

circle. Prove it.

Watch Video Solution

https://dl.doubtnut.com/l/_h877X6zMsV5o
https://dl.doubtnut.com/l/_18VNna63KzkX


12. Three boys A, B and C are standing on the

circumference of a circle with radius 10 cm and

centre at point O. If the distance between A

and B = distance between B and C = 12 cm, find

the distance between A and C. 

Watch Video Solution

13. In the given figure, O is the centre of a

circle, AB is a side of regular octagon and AC is

https://dl.doubtnut.com/l/_LtYCEmYQ0eu8
https://dl.doubtnut.com/l/_SAKVRMbEvGRm


a side of regular hexagon. Find : 

 


Watch Video Solution

∠AOB

14. In the given figure, O is the centre of a

circle, AB is a side of regular octagon and AC is

a side of regular hexagon. Find : 

https://dl.doubtnut.com/l/_SAKVRMbEvGRm
https://dl.doubtnut.com/l/_o6uUvK9KUoc2





Watch Video Solution

∠AOC

15. In the given figure, O is the centre of a

circle, AB is a side of regular octagon and AC is

a side of regular hexagon. Find : 

https://dl.doubtnut.com/l/_o6uUvK9KUoc2
https://dl.doubtnut.com/l/_cpK45UnPTQka


Exercise 17 A

 


.

Watch Video Solution

∠BOC

https://dl.doubtnut.com/l/_cpK45UnPTQka


1. A chord of length 6 cm is drawn in a circle of

radius 5 cm. Calculate its distance from the

centre of the circle.

Watch Video Solution

2. A chord of length 8 cm is drawn at a

distance of 3 cm from the centre of a circle.

Calculate the radius of the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_pq7nKd77dDtB
https://dl.doubtnut.com/l/_Ohtk1PkYAO5N
https://dl.doubtnut.com/l/_BHqL3cgh1Ul1


3. The radius of a circle is 17-0 cm and the

length of perpendicular drawn from its centre

to a chord is 8 0 cm. Calculate the length of

the chord.

Watch Video Solution

4. A chord of length 24 cm is at a distance of 5

cm from the centre of the circle. Find the

length of the chord of the same circle which is

at a distance of 12 cm from the centre.

Watch Video Solution

https://dl.doubtnut.com/l/_BHqL3cgh1Ul1
https://dl.doubtnut.com/l/_lDQ5cOyLQ2lW


5. In the following figure, AD is a straight line.

OP  AD and O is the centre of both the

circles. If OA = 34 cm, OB = 20 cm and OP = 16

cm, find the length of AB. 

Watch Video Solution

⊥

https://dl.doubtnut.com/l/_lDQ5cOyLQ2lW
https://dl.doubtnut.com/l/_C590ZEeupzDi


6. In a circle of radius 17 cm, two parallel

chords of lengths 30 cm and 16 cm are drawn.

Find the distance between the chords, if both

the chords are : 

on the opposite sides of the centre,

Watch Video Solution

7. In a circle of radius 17 cm, two parallel

chords of lengths 30 cm and 16 cm are drawn.

Find the distance between the chords, if both

https://dl.doubtnut.com/l/_hYK6HFzGbNuX
https://dl.doubtnut.com/l/_N8WauNrnF97f


the chords are : 

on the same side of the centre

Watch Video Solution

8. Two parallel chords are drawn in a circle of

diameter 30.0 cm. The length of one chord is

24.0 cm and the distance between the two

chords is 21.0 cm, find the length of the other

chord.

Watch Video Solution

https://dl.doubtnut.com/l/_N8WauNrnF97f
https://dl.doubtnut.com/l/_qDWJCyY8S1kQ
https://dl.doubtnut.com/l/_lVvxdHdBOb0s


9. A chord CD of a circle, whose centre is O, is

bisected at P by a diameter AB. 

 Given OA = OB = 15 cm and OP = 9 cm.

Calculate the lengths of : 

CD

Watch Video Solution

10. A chord CD of a circle, whose centre is O, is

bisected at P by a diameter AB. 

 

Given OA = OB = 15 cm and OP = 9 cm. Calculate

https://dl.doubtnut.com/l/_lVvxdHdBOb0s
https://dl.doubtnut.com/l/_Vvi1pm4tn9I8


the lengths of : 

AD

Watch Video Solution

11. A chord CD of a circle, whose centre is O, is

bisected at P by a diameter AB. 

 

Given OA = OB = 15 cm and OP = 9 cm. Calculate

the lengths of : 

CB.

Watch Video Solution

https://dl.doubtnut.com/l/_Vvi1pm4tn9I8
https://dl.doubtnut.com/l/_MLa9ukROMLVV


12. The figure, given below, shows a circle with

centre O in which diameter AB bisects the

chord CD at point E. If CE = ED = 8 cm and EB =

4 cm, find the radius of the circle. 

Watch Video Solution

13. In the given figure, O is the centre of the

circle. AB and CD are two chords of the circle.

OM is perpendicular to AB and ON is

https://dl.doubtnut.com/l/_MLa9ukROMLVV
https://dl.doubtnut.com/l/_GRaleYToEM1Y
https://dl.doubtnut.com/l/_YYBzrKPAFo46


perpendicular to CD. AB = 24 cm, OM = 5 cm,

ON = 12 cm. Find the :

 

radius of the circle

Watch Video Solution

14. In the given figure, O is the centre of the

circle. AB and CD are two chords of the circle.

OM is perpendicular to AB and ON is

perpendicular to CD. AB = 24 cm, OM = 5 cm,

ON = 12 cm. Find the :

https://dl.doubtnut.com/l/_YYBzrKPAFo46
https://dl.doubtnut.com/l/_PHnvnTzO6vxY


Exercise 17 B

 

radius of the circle

Watch Video Solution

1. The figure shows two concentric circles and

AD is a chord of larger circle. 

https://dl.doubtnut.com/l/_PHnvnTzO6vxY
https://dl.doubtnut.com/l/_QkvuxTHRlSUD


 

Prove that : AB = CD.

Watch Video Solution

2. A straight line is drawn cutting two equal

circles and passing through the mid-point M

of the line joining their centres O and O'. 

https://dl.doubtnut.com/l/_QkvuxTHRlSUD
https://dl.doubtnut.com/l/_zjSsNWT1DMgL


> 


Prove that the chords AB and CD, which are

intercepted by the two circles, are equal.

Watch Video Solution

3. M and N are the mid-points of two equal

chords AB and CD respectively of a circle with

centre O. Prove that : 

https://dl.doubtnut.com/l/_zjSsNWT1DMgL
https://dl.doubtnut.com/l/_HoYVqoWNEIDL


 


(i) 

Watch Video Solution

∠BMN = ∠DNM

4. M and N are the mid-points of two equal

chords AB and CD respectively of a circle with

https://dl.doubtnut.com/l/_HoYVqoWNEIDL
https://dl.doubtnut.com/l/_NuQJmxrmBDqP


centre O. Prove that : 

 


.

Watch Video Solution

∠AMN = ∠CNM

https://dl.doubtnut.com/l/_NuQJmxrmBDqP


5. In the following figure, P and Q are the

points of intersection of two circles with

centres O and O'. If straight lines APB and CQD

are parallel to OO', prove that 

 

OO'= =

Watch Video Solution

AB
1

2
CD

1

2

https://dl.doubtnut.com/l/_VbhTQuNWBmSx


6. In the following figure, P and Q are the

points of intersection of two circles with

centres O and O'. If straight lines APB and CQD

are parallel to OO', prove that 

 

AB=CD

Watch Video Solution

7. Two equal chords AB and CD of a circle with

centre O, intersect each other at point P inside

https://dl.doubtnut.com/l/_RAjhYeYu93N8
https://dl.doubtnut.com/l/_nDuNT547kKs7


the circle. Prove that 

 

AP=CP

Watch Video Solution

8. Two equal chords AB and CD of a circle with

centre O, intersect each other at point P inside

the circle. Prove that 

 

BP=DP

Watch Video Solution

https://dl.doubtnut.com/l/_nDuNT547kKs7
https://dl.doubtnut.com/l/_k7saW6zdlaK6


9. In the following figure, OABC is a square. A

circle is drawn with O as centre which meets

OC at P and OA at Q. Prove that :

 

,

Watch Video Solution

△ OPA = △ OQC

10. In the following figure, OABC is a square. A

circle is drawn with O as centre which meets

OC at P and OA at Q. Prove that :

https://dl.doubtnut.com/l/_k7saW6zdlaK6
https://dl.doubtnut.com/l/_SvsRMUrTU28O
https://dl.doubtnut.com/l/_wwx7MugJNcLx


 

.

Watch Video Solution

△ BPC = △ BQA

11. The length of common chord of two

intersecting circles is 30 cm. If the diameters

of these two circles be 50 cm and 34 cm,

calculate the distance between their centres.

Watch Video Solution

https://dl.doubtnut.com/l/_wwx7MugJNcLx
https://dl.doubtnut.com/l/_qguyG2689RMO


12. The line joining the mid-points of two

chords of a circle passes through its centre.

Prove that the chords are parallel.

Watch Video Solution

13. In the following figure, the line ABCD is

perpendicular to PQ, where P and Q are the

centres of the circles. Show that :

 

AB=CD

https://dl.doubtnut.com/l/_beDopG38cnqJ
https://dl.doubtnut.com/l/_sFnRRypivenz


Watch Video Solution

14. In the following figure, the line ABCD is

perpendicular to PQ, where P and Q are the

centres of the circles. Show that :

 

AC=BD

Watch Video Solution

https://dl.doubtnut.com/l/_sFnRRypivenz
https://dl.doubtnut.com/l/_50QFPaWi1xmP


Exercise 17 C

15. AB and CD are two equal chords of a circle

with centre O which intersect each other at

right angle at point P. If OM  AB and ON 

 CD, show that OMPN is a square.

Watch Video Solution

⊥

⊥

1. In the given figure, an equilateral triangle

ABC is inscribed in a circle with centre O. Find :

https://dl.doubtnut.com/l/_golXDUYipric
https://dl.doubtnut.com/l/_mcGYM9c0amGu


Watch Video Solution

∠BOC

2. In the given figure, an equilateral triangle

ABC is inscribed in a circle with centre O. Find :

Watch Video Solution

∠OBC

3. In the given figure, a square is inscribed in a

circle with centre O. Find : 

https://dl.doubtnut.com/l/_mcGYM9c0amGu
https://dl.doubtnut.com/l/_1D8n3XRupudj
https://dl.doubtnut.com/l/_m4vlG0sC4K3C


 .
 Is BD a diameter of the circle

Watch Video Solution

∠BOC

4. In the given figure, a square is inscribed in a

circle with centre O. Find :

 . Is BD a diameter of the circle

Watch Video Solution

∠OCB

5. In the given figure, a square is inscribed in a

circle with centre O. Find : 

https://dl.doubtnut.com/l/_m4vlG0sC4K3C
https://dl.doubtnut.com/l/_3ZQzh4RNM3UN
https://dl.doubtnut.com/l/_f0csBsM8kGNH


 . Is BD a diameter of the circle

Watch Video Solution

∠COD

6. In the given figure, a square is inscribed in a

circle with centre O. Find :

 .Is BD a diameter of the circle

Watch Video Solution

∠BOD

7. In the given figure, AB is a side of regular

pentagon and BC is a side of regula hexagon.

https://dl.doubtnut.com/l/_f0csBsM8kGNH
https://dl.doubtnut.com/l/_3QDzAS9UKg4p
https://dl.doubtnut.com/l/_OLoqo7vwPxSH


 

Watch Video Solution

∠AOB

8. In the given figure, AB is a side of regular

pentagon and BC is a side of regula hexagon.

https://dl.doubtnut.com/l/_OLoqo7vwPxSH
https://dl.doubtnut.com/l/_JtUdq6r2qbXC


 

Watch Video Solution

∠BOC

9. In the given figure, AB is a side of regular

pentagon and BC is a side of regular hexagon. 

https://dl.doubtnut.com/l/_JtUdq6r2qbXC
https://dl.doubtnut.com/l/_mWv7De9wPwl2






Watch Video Solution

∠AOC

10. In the given figure, AB is a side of regular

pentagon and BC is a side of regula hexagon.

https://dl.doubtnut.com/l/_mWv7De9wPwl2
https://dl.doubtnut.com/l/_wrRdFXSxpNoW


 

Watch Video Solution

∠OBA

11. In the given figure, AB is a side of regular

pentagon and BC is a side of regula hexagon.

https://dl.doubtnut.com/l/_wrRdFXSxpNoW
https://dl.doubtnut.com/l/_HPksmnCtCvbt


 

Watch Video Solution

∠OBC

12. In the given figure, AB is a side of regular

pentagon and BC is a side of regula hexagon.

https://dl.doubtnut.com/l/_HPksmnCtCvbt
https://dl.doubtnut.com/l/_Nmap9p8lYo4r


 

Watch Video Solution

∠ABC

13. In the given figure, arc AB and arc BC are

equal in length. If , find 
∠AOB = 48
∘

https://dl.doubtnut.com/l/_Nmap9p8lYo4r
https://dl.doubtnut.com/l/_F6Ru0lDBXtaV


 

Watch Video Solution

∠BOC

14. In the given figure, arc AB and arc BC are

equal in length. If , find 


 

Watch Video Solution

∠AOB = 48∘

∠OBC

https://dl.doubtnut.com/l/_F6Ru0lDBXtaV
https://dl.doubtnut.com/l/_t5CN2ZQOLUG9


15. In the given figure, arc AB and arc BC are

equal in length. If , find 


 

Watch Video Solution

∠AOB = 48∘

∠AOC

16. In the given figure, arc AB and arc BC are

equal in length. If , find 


 

∠AOB = 48∘

∠OAC

https://dl.doubtnut.com/l/_7jJEdf0Kzmf6
https://dl.doubtnut.com/l/_DEh1Zn5oD8gH


Watch Video Solution

17. In the given figure, the lengths of arcs AB

and BC are in the ratio 3 : 2. If ,

find:

 

Watch Video Solution

∠AOB = 96∘

∠BOC

18. In the given figure, the lengths of arcs AB

and BC are in the ratio 3 : 2. If ,∠AOB = 96∘

https://dl.doubtnut.com/l/_DEh1Zn5oD8gH
https://dl.doubtnut.com/l/_pObDUKrLIY8w
https://dl.doubtnut.com/l/_btqoBCX7xYMB


find:

 

Watch Video Solution

∠ABC

19. In the given figure, AB = BC = DC and

 
∠AOB = 50∘

https://dl.doubtnut.com/l/_btqoBCX7xYMB
https://dl.doubtnut.com/l/_exy2Mg59s6aw


 

 =?

Watch Video Solution

∠AOC

https://dl.doubtnut.com/l/_exy2Mg59s6aw


20. In the given figure, AB = BC = DC and

 


 

Watch Video Solution

∠AOB = 50∘

∠AOD

21. In the given figure, AB = BC = DC and

 


 

∠AOB = 50∘

∠BOD

https://dl.doubtnut.com/l/_qmhhYpENXZmY
https://dl.doubtnut.com/l/_ZCZH3ZnbuaGd


Watch Video Solution

22. In the given figure, AB = BC = DC and

 


 

Watch Video Solution

∠AOB = 50∘

∠OAC

23. In the given figure, AB = BC = DC and

 
∠AOB = 50∘

https://dl.doubtnut.com/l/_ZCZH3ZnbuaGd
https://dl.doubtnut.com/l/_IGFFedQ2xm5Y
https://dl.doubtnut.com/l/_5xNuoPlnkMkf


 

Watch Video Solution

∠ODA

24. In the given figure, AB is a side of a regular

hexagon and AC is a side of a regular eight

sided polygon. Find : 

https://dl.doubtnut.com/l/_5xNuoPlnkMkf
https://dl.doubtnut.com/l/_KAa5XJ3JkR87


 

Watch Video Solution

∠AOB

25. In the given figure, AB is a side of a regular

hexagon and AC is a side of a regular eight

sided polygon. Find : 

https://dl.doubtnut.com/l/_KAa5XJ3JkR87
https://dl.doubtnut.com/l/_cMhPlGNpQ3Z1


 

Watch Video Solution

∠AOC

26. In the given figure, AB is a side of a regular

hexagon and AC is a side of a regular eight

sided polygon. Find : 

https://dl.doubtnut.com/l/_cMhPlGNpQ3Z1
https://dl.doubtnut.com/l/_9nAsfbQQ8zSI


 

Watch Video Solution

∠BOC

27. In the given figure, AB is a side of a regular

hexagon and AC is a side of a regular eight

sided polygon. Find : 

https://dl.doubtnut.com/l/_9nAsfbQQ8zSI
https://dl.doubtnut.com/l/_lR8XQ4pqtgCE


 

Watch Video Solution

∠OBC

28. In the given figure, O is the centre of the

circle and the length of arc AB is twice the

length of arc BC. 

if  find ∠AOB = 100∘ ∠BOC

https://dl.doubtnut.com/l/_lR8XQ4pqtgCE
https://dl.doubtnut.com/l/_5W2STHaaTL4V


Exercise 17 D

Watch Video Solution

29. In the given figure, O is the centre of the

circle and the length of arc AB is twice the

length of arc BC. 

if  find 


 

Watch Video Solution

∠AOB = 100∘

∠OAC

https://dl.doubtnut.com/l/_5W2STHaaTL4V
https://dl.doubtnut.com/l/_4592XEmJPwHL


1. The radius of a circle is 13 cm and the length

of one of its chords is 24 cm. Find the distance

of the chord from the centres.

Watch Video Solution

2. Prove that equal chords of congruent circles

subtend equal angles at their centre.

Watch Video Solution

https://dl.doubtnut.com/l/_oyh6hb6bSTpz
https://dl.doubtnut.com/l/_nCtoKxuAhwnG


3. Draw the circles of different radii. How many

points, these circles can have in common ?

What is the maximum number of common

points ?

Watch Video Solution

4. Suppose you are given a circle. Describe a

method by which you can find the centre of

this circle.

Watch Video Solution

https://dl.doubtnut.com/l/_ha6aLZzj7PRg
https://dl.doubtnut.com/l/_Y5rEH7tmoNnD


5. Given two equal chords AB and CD of a

circle, with centre O, intersecting each other at

point p prove that 

 

AP=CP

Watch Video Solution

6. Given two equal chords AB and CD of a

circle, with centre O, intersecting each other at

point p prove that 

https://dl.doubtnut.com/l/_Y5rEH7tmoNnD
https://dl.doubtnut.com/l/_VibUjGjK3s8t
https://dl.doubtnut.com/l/_1fCDjYN3NneZ


 

BP=DP

Watch Video Solution

7. In a cricle of radius 10 cm, AB and CD are two

parallel chords of lengths 16 cm and 12 cm

respectively. Calculate the distance between

the chords, if they are on : 

the same side of the centre.

Watch Video Solution

https://dl.doubtnut.com/l/_1fCDjYN3NneZ
https://dl.doubtnut.com/l/_rcqEtL9aOIVW
https://dl.doubtnut.com/l/_vDL4aGVtiRxq


8. In a cricle of radius 10 cm, AB and CD are two

parallel chords of lengths 16 cm and 12 cm

respectively. Calculate the distance between

the chords, if they are on : 

the opposite sides of the centre.

Watch Video Solution

9. In the given figure, O is the centre of the

circle with radius 20 cm and OD is

perpendicular to AB. If AB = 32 cm, find the

https://dl.doubtnut.com/l/_vDL4aGVtiRxq
https://dl.doubtnut.com/l/_ysLemhTcpU2Y


length of CD 

Watch Video Solution

10. In the given figure, AB and CD are two

equal chords of a circle, with centre O. If P is

the mid-point of chord AB, Q is the mid-point

of chord CD and  find

`angleAPQ

Watch Video Solution

∠POQ = 150∘

https://dl.doubtnut.com/l/_ysLemhTcpU2Y
https://dl.doubtnut.com/l/_iCFwswjdtXXv
https://dl.doubtnut.com/l/_DPIZ1iBRRuT6


11. In the given figure, AOC is the diameter of

the circle, with centre O. 

 

If arc AXB is half of arc BYC, find ZBOC.

Watch Video Solution

12. The circumference of a circle, with centre O,

is divided into three arcs APB, BQC and CRA

such that :

 Find 

.

= =
arcAPB

2

arcBQC

3

arcCRA

4

∠BOC

https://dl.doubtnut.com/l/_DPIZ1iBRRuT6
https://dl.doubtnut.com/l/_ZVAM1gMh9lLO


Topic 1

Watch Video Solution

1. A chord of length 24 cm is at a distance of 5

cm from the centre of the circle. Find the

length of the chord of the same circle which is

at a distance of 12 cm from the centre.

Watch Video Solution

https://dl.doubtnut.com/l/_ZVAM1gMh9lLO
https://dl.doubtnut.com/l/_lAUwckjkfSOp


2. The figure, given below, show a circle with

centre O in which diameter AB bisects the

chord CD at point E. If CE = ED = 8 cm and EB =

4 cm. Find the radius of the circle. 

Watch Video Solution

https://dl.doubtnut.com/l/_SmpWFLc4hHKv
https://dl.doubtnut.com/l/_bctAKdBaDTQX


3. A straight line is drawn cutting two equal

circles and passing through the mid-point M

of the joining their centres O and O'. 

Prove that the chord AB and CD, which are

intercepted by the two circles, are equal 

Watch Video Solution

https://dl.doubtnut.com/l/_bctAKdBaDTQX


4. The length of common chord of two

intersecting circles is 30 cm. If the diameters

of these two circles be 50 cm and 34 cm.

Calculate the distance between their centres.

Watch Video Solution

5. In the following the line ABCD is

perpendicular to PQ. P and Q are the centres

of the circles Show that: AB=CD 

https://dl.doubtnut.com/l/_J2v4FvQioj1m
https://dl.doubtnut.com/l/_oTK3KZDzSRb8


Watch Video Solution

6. The shows two concentric circles and AD is a

chord of lenger circle. prove that AB=CD 

Watch Video Solution

https://dl.doubtnut.com/l/_oTK3KZDzSRb8
https://dl.doubtnut.com/l/_zr2ZJMzST81S
https://dl.doubtnut.com/l/_2z3BxIftkWjw


7. In a circle of radius 17 cm, two parallel chord

of length 30 cm and 16 cm are drawn, find the

distance between the chords, if both the

chords are : 

On the opposite sides of the centre,

Watch Video Solution

8. In a circle of radius 17 cm, two parallel

chords of lengths 30 cm and 16 cm are drawn.

Find the distance between the chords, if both

https://dl.doubtnut.com/l/_2z3BxIftkWjw
https://dl.doubtnut.com/l/_RbasrHYWp7vq


the chords are : 

on the same side of the centre

Watch Video Solution

9. A chord CD of a circles, whose centre is O, is

bisected at P by a diameter AB. 

Give 04 = OB = 15 cm and OP = 9 cm. 

https://dl.doubtnut.com/l/_RbasrHYWp7vq
https://dl.doubtnut.com/l/_YzTcauf2J34E


 

CD

Watch Video Solution

10. A chord CD of a circles, whose centre is O, is

bisected at P by a diameter AB. 

https://dl.doubtnut.com/l/_YzTcauf2J34E
https://dl.doubtnut.com/l/_uX6ff8PvSDTC


Give 04 = OB = 15 cm and OP = 9 cm. 

 


AD

Watch Video Solution

https://dl.doubtnut.com/l/_uX6ff8PvSDTC


11. A chord CD of a circles, whose centre is O, is

bisected at P by a diameter AB. 

Give 0A = OB = 15 cm and OP = 9 cm. 

 

CB

Watch Video Solution

https://dl.doubtnut.com/l/_jORAtTpNxwM3


12. Two equal chord AB and CD of a circle with

centre O, intersect each other at point P inside

the circle. 

 


https://dl.doubtnut.com/l/_jORAtTpNxwM3
https://dl.doubtnut.com/l/_fIyCYW7Pjp8R


Prove that: 

Watch Video Solution

BP = DP

13. In the following figure, OABC is a square. A

circle is drawn with as centre which meets OC

at P and OA at Q. Prove that: 

https://dl.doubtnut.com/l/_fIyCYW7Pjp8R
https://dl.doubtnut.com/l/_H54YNgiWKuIk


 


Watch Video Solution

ΔOPA ≅ΔOQC

14. In the following figure, OABC is a square. A

circle is drawn with as centre which meets OC

at P and OA at Q. Prove that: 

https://dl.doubtnut.com/l/_H54YNgiWKuIk
https://dl.doubtnut.com/l/_88mcR5iqmaaB


 


Watch Video Solution

ΔBPC ≅ΔBQA

15. AB and CD are two equal chords of a circle

with centre O which intersect each other at

https://dl.doubtnut.com/l/_88mcR5iqmaaB
https://dl.doubtnut.com/l/_RyxE8BXlaKVT


right angle at P. If OM  AB and ON  CD,

show that OMPN is a square.

Watch Video Solution

⊥ ⊥

16. In the given diagram 'O is the centre of the

circle and AB is parallel to CD. AB = 24 cm and

distance between he chord AB and CD is 17 cm.

It the radius of the circle is 13 cm, find the

length of the chord CD.

Watch Video Solution

https://dl.doubtnut.com/l/_RyxE8BXlaKVT
https://dl.doubtnut.com/l/_hb1ZonaQt2jD
https://dl.doubtnut.com/l/_hdNBifyQpasu


17. In the given figure o is the centre of the

two concentric circles. A line T cuts the circles

at A, B, C and D as shown in the figure. OP is

perpendicular to AD. 

Given OA = 34 cm, OP = 16 cm and AB = 18 cm

Find : 

length of chord AD 

https://dl.doubtnut.com/l/_hdNBifyQpasu


Watch Video Solution

18. In the given figure o is the centre of the

two concentric circles. A line T cuts the circles

at A, B, C and D as shown in the figure. OP is

perpendicular to AD. 

Given OA = 34 cm, OP = 16 cm and AB = 18 cm

Find : 

https://dl.doubtnut.com/l/_hdNBifyQpasu
https://dl.doubtnut.com/l/_StGIfznAOQj8


length of chord BC 

Watch Video Solution

19. In the given figure o is the centre of the

two concentric circles. A line T cuts the circles

at A, B, C and D as shown in the figure. OP is

https://dl.doubtnut.com/l/_StGIfznAOQj8
https://dl.doubtnut.com/l/_3vuS5JaL8MAz


Topic 2

perpendicular to AD. 

Given OA = 34 cm, OP = 16 cm and AB = 18 cm

Find :

radius of the smaller circle 

Watch Video Solution

https://dl.doubtnut.com/l/_3vuS5JaL8MAz


1. In the given figure, an equilateral triangle

ABC is inscribed in a circle with centre O. Find :

Watch Video Solution

∠BOC

2. In the given on equilateral triangle ABC is

inscribed in a ciecle with centre O. Find: 

 and 

Watch Video Solution

∠OBC ∠BOC

https://dl.doubtnut.com/l/_jKFoghRN4G8w
https://dl.doubtnut.com/l/_hoRsnGy9i86K
https://dl.doubtnut.com/l/_Q073Z2jjG4CG


3. In the given the length of arcs AB and BC are

in the ratio  


If  find 


Watch Video Solution

3: 2.

∠AOB = 96∘

∠BOC

4. In the given the length of arcs AB and BC

are in the ratio  


If  find 


Watch Video Solution

3: 2.

∠AOB = 96∘

∠ABC

https://dl.doubtnut.com/l/_Q073Z2jjG4CG
https://dl.doubtnut.com/l/_GInlHcDXpEbj


5. Draw the circles of different radii. How many

points, these circles can have in common ?

What is the maximum number of common

points ?

Watch Video Solution

6. Suppose you are given a circle. Describe a

method by which you can find the centre of

this circle.

https://dl.doubtnut.com/l/_GInlHcDXpEbj
https://dl.doubtnut.com/l/_feDpA8L99Koz
https://dl.doubtnut.com/l/_ZjK2XvmtUmvN


Watch Video Solution

7. The circumference of a circle, with centre O,

is divided into three arcs APB, BQC and CRA

such that :

 Find 

.

Watch Video Solution

= =
arcAPB

2

arcBQC

3

arcCRA

4

∠BOC

8. In the given arc AB= twice are BC and

 find: 
∠AOB = 80∘

https://dl.doubtnut.com/l/_ZjK2XvmtUmvN
https://dl.doubtnut.com/l/_E3xsJOhtV4Or
https://dl.doubtnut.com/l/_syqDQcGMExDX


Watch Video Solution

∠BOC

9. In the given arc AB= twice are BC and

 find: 


Watch Video Solution

∠AOB = 80∘

∠OAC

10. In the given AB is a side of regular

pentagon and BC is a side of regular hexagon. 

https://dl.doubtnut.com/l/_syqDQcGMExDX
https://dl.doubtnut.com/l/_0FXoesZAXwVP
https://dl.doubtnut.com/l/_z9lekH8cIcZv


 


Watch Video Solution

∠AOB

11. In the given AB is a side of regular

pentagon and BC is a side of regular hexagon. 

https://dl.doubtnut.com/l/_z9lekH8cIcZv
https://dl.doubtnut.com/l/_SlmFgZ4L92Ad





Watch Video Solution

∠BOC

12. In the given AB is a side of regular

pentagon and BC is a side of regular hexagon. 

https://dl.doubtnut.com/l/_SlmFgZ4L92Ad
https://dl.doubtnut.com/l/_biF3IGoLwggs


 

Watch Video Solution

∠AOC

13. In the given AB is a side of regular

pentagon and BC is a side of regular hexagon. 

https://dl.doubtnut.com/l/_biF3IGoLwggs
https://dl.doubtnut.com/l/_kgg0mSdjXRFi


 


Watch Video Solution

∠OBA

14. In the given AB is a side of regular

pentagon and BC is a side of regular hexagon. 

https://dl.doubtnut.com/l/_kgg0mSdjXRFi
https://dl.doubtnut.com/l/_ScCqEUEM6h9K


 


Watch Video Solution

∠OBC

15. In the given AB is a side of regular

pentagon and BC is a side of regular hexagon. 

https://dl.doubtnut.com/l/_ScCqEUEM6h9K
https://dl.doubtnut.com/l/_xJaN3Au42PSV


 

Watch Video Solution

∠ABC

16. In the given

 
AB = BC = DC and ∠AOB = 50∘

https://dl.doubtnut.com/l/_xJaN3Au42PSV
https://dl.doubtnut.com/l/_Frqh6KnanFPF


Watch Video Solution

∠AOC

17. In the given

 

Watch Video Solution

AB = BC = DC and ∠AOB = 50∘

∠AOD

18. In the given

 
AB = BC = DC and ∠AOB = 50∘

https://dl.doubtnut.com/l/_Frqh6KnanFPF
https://dl.doubtnut.com/l/_bnBu3ln9OhqJ
https://dl.doubtnut.com/l/_eiuoVpFgoR3o


Watch Video Solution

∠BOD

19. In the given figure, AB = BC = DC and

 


 

Watch Video Solution

∠AOB = 50∘

∠OAC

https://dl.doubtnut.com/l/_eiuoVpFgoR3o
https://dl.doubtnut.com/l/_zS1CBt8aOM7m


20. In the given figure, AB = BC = DC and

 


 

Watch Video Solution

∠AOB = 50∘

∠ODA

21. Prove that equal chords of congruent

circles subtend equal angles at their centre.

Watch Video Solution

https://dl.doubtnut.com/l/_Z75t5qMRVtM8
https://dl.doubtnut.com/l/_EJDbg2TGlogM
https://dl.doubtnut.com/l/_vSDbY9JMv8CK


22. In the given figure, AB and CD are two

equal chords of a circle, with centre O. If P is

the mid-point of chord AB, Q is the mid-point

of chord CD and  find

`angleAPQ

Watch Video Solution

∠POQ = 150∘

23. In the given figure, 'O' is the centre of the

circle, Arc AB = Arc BC = Arc CD. If

, find : 


 

∠OAB = 48∘

https://dl.doubtnut.com/l/_vSDbY9JMv8CK
https://dl.doubtnut.com/l/_dAg86yyL3zs1


(i)  

(ii) 

Watch Video Solution

∠AOB

∠BOD

24. In the given figure, 'O' is the centre of the

circle, Arc AB = Arc BC = Arc CD. If

, find : 


 

(i)  

(ii) 

Watch Video Solution

∠OAB = 48∘

∠AOB

∠BOD

https://dl.doubtnut.com/l/_dAg86yyL3zs1
https://dl.doubtnut.com/l/_Z0VeaXftIDS4


25. In the given 'O' is the centre of the circle,

Arc 

find: 

 

AB = ArcBC = Cd. If∠OAB = 48∘ ,

∠OBD

https://dl.doubtnut.com/l/_Z0VeaXftIDS4
https://dl.doubtnut.com/l/_RrZ67WNLw3Fy


Watch Video Solution

https://dl.doubtnut.com/l/_RrZ67WNLw3Fy

